

# COMMUNICATIONS

DE LA FACULTÉ DES SCIENCES  
DE L'UNIVERSITÉ D'ANKARA

Série A: Mathématiques, Physique et Astronomie

---

TOME 22 A

ANNÉE 1973

---

## **On Matrix Transformations Of Sequence Spaces Defined In An Incomplete Space**

by

**Ö. ÇAKAR**

9

Faculté des Sciences de l'Université d'Ankara  
Ankara, Turquie

# Communications de la Faculté des Sciences de l'Université d'Ankara

Comité de Rédaction de la Série A

C. Uluçay, E. Erdik, N. Doğan

Secrétaire de publication

N. Gündüz

---

La Revue "Communications de la Faculté des Sciences de l'Université d'Ankara" est un organe de publication englobant toutes les disciplines scientifiques représentées à la Faculté: Mathématiques pures et appliquées, Astronomie, Physique et Chimie théorique, expérimentale et technique, Géologie, Botanique et Zoologie.

La Revue, à l'exception des tomes I, II, III, comprend trois séries

Série A: Mathématiques, Physique et Astronomie.

Série B: Chimie.

Série C: Sciences naturelles.

En principe, la Revue est réservée aux mémoires originaux des membres de la Faculté. Elle accepte cependant, dans la mesure de la place disponible, les communications des auteurs étrangers. Les langues allemande, anglaise et française sont admises indifféremment. Les articles devront être accompagnés d'un bref sommaire en langue turque.

# On Matrix Transformations Of Sequence Spaces Defined In An Incomplete Space

Ö. ÇAKAR

Dept. of Mathematics, Faculty of Science,  
Ankara University, Ankara

## SUMMARY

The purpose of this note is to characterize the matrices which transform some sequence spaces into the same or another sequence space in an incomplete space and to give a new method to prove the necessity of the norm condition  $f(A) < \infty$  for these type of transformations.

## 1. INTRODUCTION

Let  $A = (a_{nk})$  be an infinite matrix of complex numbers  $a_{nk}$  ( $n, k = 1, 2, \dots$ ) and  $v, w$  be two subsets of the space  $s$  of complex sequences. We say that the matrix  $A$  defines a matrix transformation from  $v$  into  $w$  and denote it by writing  $A \in (v, w)$ , if for every sequence  $x = (x_k) \in v$  the sequence  $Ax = (A_n(x)) \in w$ ,

where  $A_n(x) = \sum_{k=1}^{\infty} a_{nk} x_k$ .

It is known that most of the Toeplitz theory on transformations of sequence spaces, i. e., characterizations of the matrices  $A \in (v, w)$  seem to have been solved for the case in which  $x_k$  s are complex numbers. (See, for example, [1], [2], [4] [5], [6], [7]). However it can easily be shown that many of the important results are still valid in any complete seminormed complex linear space  $X$ .

In this paper we are going to deal with the Toeplitz theory on the transformations of sequence spaces defined in an incomplete seminormed complex linear space  $X = X(p)$  with the seminorm  $p$  and zero  $\theta$ . The main difficulty for these type of characterizations is to prove the necessity of the norm condition which easily comes out from the Banach-Steinhaus type theorem when  $X$  is complete. Since the Banach-Steinhaus type theorem is not valid in an incomplete space, one has to find some other methods. First, Maddox modified the original argument used by Toeplitz, [3]. This modification consists of a construction of a special sequence which gives a contradiction, [6]. Sometimes this procedure is a hard and even a painstaking job. Therefore, we are going to establish a lemma which will save us to construct such special sequences for each of the transformations. (See Lemma 3.3).

## 2. NOTATIONS

As far as we know, the first paper on the matrix transformations of the sequence spaces defined in an incomplete space is due to Maddox [3]. In that paper, he has chosen the sequence spaces  $L_\infty$ ,  $\mathcal{C}$  and  $\mathbf{C}$ , the space of bounded sequences, Cauchy sequences and convergent sequences, respectively, and characterized the matrix transformations between any two of these spaces. Now we shall add the sequence spaces

$$\Gamma = \{x = (x_k) : \sum x_k \text{ converges and } x_k \in X\},$$

$$L_r = \{x = (x_k) : \sum [p(x_k)]^r < \infty \ (1 < r < \infty) \text{ and } x_k \in X\}$$

and

$$L_s = \{x = (x_k) : \sum [p(x_k)]^s < \infty \ (0 < s \leq 1) \text{ and } x_k \in X\}$$

to the spaces mentioned above to extend the range.

Throughout the paper,  $S$  will denote the space of all sequences defined in  $X = X(p)$ .  $V$  and  $W$  will be any subspaces of  $S$ . When  $X = \mathbf{C}$ , the set of complex numbers, we are going to use the usual notations  $l_\infty$ ,  $c$ ,  $\gamma$ ,  $l_2$ ,  $l_s$  for the corresponding spaces to  $L_\infty$ ,  $\mathcal{C}$ ,

$\mathbf{C}$ ,  $\Gamma$ ,  $L_r$ ,  $L_s$ , respectively. Of course, the space of Cauchy sequences is equal to the space of convergent sequences in the case of  $X = C$ .

$\Phi$  will denote the space of finite sequences of complex numbers, i. e., sequences which have only a finite number of non-zero coordinates and  $R$  denotes the set of row-finite infinite matrices, i. e., whose rows are in  $\Phi$ .

By  $N$  we denote the set of natural numbers.

3. LEMMAS

Now, we are going to give some lemmas which will be used frequently throughout the paper.

**Lemma 3.1.** If  $X$  is incomplete, then  $L_\infty$ ,  $\mathcal{C}$ ,  $\mathbf{C}$ ,  $\Gamma$ ,  $L_r$  and  $L_s$  are also incomplete.

To fix the idea, we shall prove the incompleteness of  $\mathbf{C}$  under the given seminorm. The others can be shown in a similar way.

**Proof.** Since  $X$  is incomplete seminormed complex linear space, there exists a sequence  $(x_n) = (x_1, x_2, \dots)$  which is Cauchy but not convergent. Now, let us define

$$\begin{aligned} y_1 &= (x_1, \theta, \theta, \dots) \\ y_2 &= (x_2, \theta, \theta, \dots) \\ &\dots\dots\dots \\ y_n &= (x_n, \theta, \theta, \dots) \\ &\dots\dots\dots \end{aligned}$$

Then

$$\overline{p}(y_n - y_m) = \sup p(x_n - x_m) \rightarrow 0,$$

since  $(x_n)$  is Cauchy in  $X$ , so  $(y_n)$  is Cauchy in  $\mathbf{C}$ .

Now, suppose that

$$\overline{p} y_n \rightarrow t \in \mathbf{C}, \text{ say,}$$

where  $t = (t_1, t_2, \dots)$ . But  $(y_n - t) = (x_n - t_1, -t_2, -t_3, \dots)$  and

$$\bar{p}(y_n - t) = \sup_n p(x_n - t_1) \nrightarrow 0,$$

since  $(x_n)$  does not converge to any element of  $X$ . So

$$\bar{p}(y_n - t) \nrightarrow 0 \quad \text{as } n \rightarrow \infty.$$

This is a contradiction.

**Lemma 3.2.** If the sequence  $(\sum_{k=1}^{\infty} a_{nk} x_k)_{n \in N}$  converges for every  $(x_k) \in V$ , where  $V$  is a space which has the unit vector  $e^{(k)} = (\theta, \theta, \dots, \theta, u, \theta, \dots)$  with  $u \in X$  ( $p(u) > 0$ ) in  $k^{\text{th}}$  place and  $\theta$  otherwise, e. g.,  $L_{\infty}$ ,  $\mathcal{C}$ ,  $\mathbf{C}$ ,  $\Gamma$ ,  $L_r$ ,  $L_s$ , then

$$(a_{nk})_{n \in N} \in c \quad (\forall k).$$

**Proof.** Let  $(\sum_{k=1}^{\infty} a_{nk} x_k)_{n \in N} \in \mathbf{C}$  for each  $(x_k) \in V$ . Then taking  $x_k = e^{(k)}$ , we get

$$(a_{nk} \cdot u)_{n \in N} \in \mathbf{C} \quad (\forall k),$$

which implies that

$$(a_{nk} \cdot u)_{n \in N} \in \mathcal{C} \quad (\forall k),$$

i. e.,

$$p(u) | a_{nk} - a_{mk} | \rightarrow 0 \quad \text{as } n, m \rightarrow \infty$$

Thus we have that

$$|a_{nk} - a_{mk}| \rightarrow 0 \quad \text{as } n, m \rightarrow \infty$$

and therefore

$$(a_{nk})_{n \in N} \in c \quad (\forall k).$$

**REMARK.** Let  $w$  is one of the sequence spaces  $L_{\infty}$ ,  $c$ ,  $\gamma$ ,  $l_r$  and  $l_s$  and  $W$  be the corresponding sequence spaces  $L_{\infty}$ ,  $\mathcal{C}$ ,  $\mathbf{C}$ ,  $\Gamma$ ,  $L_r$  and  $L_s$ , then it is easy to check that  $(x_k) \in w$  if and only if  $(yx_k) \in W$  for each fixed vector  $y \in X$  with  $p(y) > 0$  where  $e x_k \in C$ . Then we can give the following lemma:

**Lemma 3.3.** Let each of  $v, w$  be one of the sequence spaces  $L_{\infty}$ ,  $c$ ,  $\gamma$ ,  $l_r$  and  $l_s$ , and  $V, W$  be the corresponding sequence spaces

$L_\infty, \mathcal{C}, \mathbf{C}, \Gamma, L_r$  and  $L_s$ . Then if a norm-condition  $f(A) < \infty$  is necessary for  $A \in (v, w)$ , it is also necessary for  $A \in (V, W)$ .

**Proof.** Let  $A \in (V, W)$ . But suppose that  $f(A) = \infty$ . Then there exists a sequence  $(x_k) \in v$  such that  $(\sum a_{nk} x_k) \notin w$ . Now choose  $y \in X$  with  $p(y) > 0$ . Hence  $(yx_k) \in V$ .

If  $\sum a_{nk} x_k$  diverges for some  $n$ , then  $\sum a_{nk} y x_k$  diverges for some  $n$  which is a contradiction.

If  $\sum a_{nk} x_k$  converges for all  $n$  then we need  $(y \Lambda_n(x)) \in W$ . This implies that  $(\Lambda_n(x)) \in w$ , which is also a contradiction, whence  $f(A) < \infty$ . This completes the proof.

**Lemma 3.4.** In  $(X, p)$ ,  $A \in (V, \Gamma)$  if and only if  $G \in (V, \mathbf{C})$

where the matrix  $G = (g_{nk})$  is given by  $g_{nk} = \sum_{j=1}^n a_{jk}$ .

For the case in which  $X = C$ , this lemma is due to Vermes [7]. Since the proof is quite similar we omit to give it here.

**Lemma 3.5.** Let  $0 < q < \infty$ . Then, in  $(X, p)$ , the necessary and sufficient condition for  $\sum_{k=1}^{\infty} a_k x_k$  to be convergent

whenever  $\sum_{k=1}^{\infty} [p(x_k)]^q < \infty$  is that  $\mathbf{a} = (a_k) \in \Phi$ .

**Proof.** Since  $\sum_{k=1}^{\infty} a_k x_k$  reduces to a finite sum, sufficiency is trivial.

For the necessity, suppose that  $\mathbf{a} \notin \Phi$ . Then there is a sequence of positive integers  $m_1 < m_2 < \dots$  such that  $|a_{m_k}| > 0$ . Also there is a sequence  $y \in \mathcal{C} - \mathbf{C}$ , whence there exist positive integers  $n_1 < n_2 < \dots$  such that

$$p(y_{n_k} - y_{n_{k-1}}) < |a_{m_k}| / k^{1+1/q} \quad (k = 2, 3, \dots).$$

Let us define

$$x_{m_1} = y_{n_1}/a_{m_1}, \quad x_{m_k} = (y_{n_k} - y_{n_{k-1}})/a_{m_k} \quad (k \geq 2),$$

and  $x_n = 0$  ( $n \neq m_k$ ) so that

$$\sum_{k=1}^{\infty} [p(x_k)]^q \leq [p(y_{n_1})/|a_{m_1}|]^q + \sum_{k \geq 2} 1/k^{1+q} < \infty,$$

since  $q > 0$ . But

$$\sum_{k=1}^{m_i} a_k x_k = a_{m_1} x_{m_1} + a_{m_2} x_{m_2} + \dots + a_{m_i} x_{m_i} = y_{n_i}.$$

Since  $\sum_{k=1}^{\infty} a_k x_k$  converges, we have that the Cauchy sequence  $y$  has a convergent subsequence  $(y_{n_i})$ . Hence  $y$  converges, contrary to  $y \in \mathcal{C}$ .

REMARK. The above lemma is still true if  $L_q$  is replaced by  $L(q)$  where

$$L(q) = \{x = (x_k): x_k \in X, \sum_{k=1}^{\infty} [p(x_k)]^{q_k} < \infty, q_k > 0 (\forall k)\},$$

It is enough to take

$$p(y_{n_k} - y_{n_{k-1}}) < |a_{m_k}| / k^{2/q_k} \quad (k = 2, 3, \dots)$$

in the above proof.

**Lemma 3. 6.** Let  $W \supset L_q$  ( $0 < q < \infty$ ). Then the dual space of  $W$  is  $\Phi$ , i. e.,

$$(W)^+ = \Phi.$$

**Proof.** We have already shown in Lemma 3.5. that

$$(L_q)^+ = \Phi \quad (0 < q < \infty).$$

Now,  $W \supset L_q$  implies that  $(W)^+ \subset (L_q)^+ = \Phi$ , i.e.,

$$(1) \quad (W)^+ \subset \Phi.$$

Let  $a = (a_k) \in \Phi$ , i.e.,  $a = (a_1, a_2, \dots, a_{n_0}, 0, 0, \dots)$  and take any  $(x_k) \in W$ . Then

$$\sum_{k=1}^{\infty} a_k x_k = \sum_{k=1}^{n_0} a_k x_k$$

exists, since it is a finite sum. Therefore

$$(2) \quad \Phi \subset (W)^+.$$

So from (1) and (2), we get

$$(W)^+ = \Phi.$$

**Corollary.**

$$(L_{\infty})^+ = (\mathcal{C})^+ = (\mathbf{C})^+ = (L_q)^+ = \Phi, \text{ where } 0 < q < \infty.$$

**Lemma 3.7.** In  $(X, p)$ , the necessary and sufficient condition for  $\sum_{k=1}^{\infty} a_k x_k$  to be convergent whenever  $\sum_{k=1}^{\infty} x_k$  converges is that  $\Delta a \in \Phi$ , where  $\Delta a = a_k - a_{k+1}$ .

**Proof. Sufficiency.**  $\Delta a \in \Phi$  implies that  $a = (a_k)$  is ultimately constant. Then, obviously,  $\sum_{k=1}^{\infty} a_k x_k$  is convergent whenever  $\sum_{k=1}^{\infty} x_k$  converges.

**Necessity.** Let  $(s_k) = (\sum_{i=1}^k x_i)$  be convergent. Then the series

$$\sum x_k = s_1 + (s_2 - s_1) + (s_3 - s_2) + \dots$$

converges and so

$$\sum_{k=1}^n a_k x_k = s_n a_n + \sum_{k=1}^{n-1} s_k \Delta a_k$$

tends to a limit as  $n \rightarrow \infty$ . Hence we can write

$$\sum_{k=1}^n b_{nk} s_k \rightarrow a \text{ limit.}$$

So we get

$$B = (b_{nk}) \in (\mathbf{C}, \mathbf{C}),$$

i. e.,

$$\left( \lim_{n \rightarrow \infty} b_{nk} \right) = (\Delta a_k) \in \Phi.$$

This completes the proof.

#### 4. MATRIX TRANSFORMATIONS OF SOME SEQUENCE SPACES DEFINED IN AN INCOMPLETE SPACE

In this chapter, we are going to characterize the matrices which transform the sequence space  $V$  into  $L_\infty$ ,  $\mathcal{C}$ ,  $\mathbf{C}$  and  $\Gamma$ . The transformations between the spaces  $L_\infty$ ,  $\mathcal{C}$  and  $\mathbf{C}$  are due to Maddox [3]. Now we shall give the rest.

##### 4. 1. Transformations of the form $(V, L_\infty)$ .

**Theorem 4. 1.1.** In  $(X, p)$ ,  $A \in (\Gamma, L_\infty)$  if and only if

$$(3) \quad \Delta A \in R, \text{ i. e., } \Delta a_{nk} = 0 \text{ for } k > k_0(n),$$

$$(4) \quad \sup_n \sum_{k=1}^{\infty} |\Delta a_{nk}| < \infty,$$

and

$$(5) \quad \sup_n |a_{n1}| < \infty.$$

Since the proof of this theorem is quite similar to the one in the case in which  $X$  is complete, we omit to giving it.

**Theorem 4.1.2.** Let  $1 < r < \infty$ . Then, in  $(X, p)$ ,  $A \in (L_r, L_\infty)$  if and only if

$$(6) \quad A \in R, \text{ i. e., } a_{nk} = 0 \text{ for } k > k_0(n),$$

$$(7) \quad M = \sup_n \sum_{k=1}^{\infty} |a_{nk}|^{r'} < \infty, \text{ where } 1/r + 1/r' = 1.$$

**Proof. Sufficiency.** Suppose that the conditions hold. Then using the Hölder's inequality, we get

$$\begin{aligned} p \left( \sum_{k=1}^{\infty} a_{nk} x_k \right) &= p \left( \sum_{k=1}^{k_0(n)} a_{nk} x_k \right) \\ &\leq \sum_{k=1}^{k_0(n)} |a_{nk}| p(x_k) \\ &\leq \left[ \sum_{k=1}^{k_0(n)} |a_{nk}|^{r'} \right]^{1/r'} \left[ \sum_{k=1}^{k_0(n)} [p(x_k)]^r \right]^{1/r} \\ &< \infty, \end{aligned}$$

whenever  $(x_k) \in L_r$ .

**Necessity.** According to Lemma 3.6.  $A \in R$  and by Lemma 3.3. (7) is necessary.

**Theorem 4.1.3.** Let  $0 < s \leq 1$ . Then in  $(X, p)$ ,  $A \in (L_s, L_\infty)$  if and only if

$$(6) \quad A \in R, \text{ i. e., } a_{nk} = 0 \text{ for } k > k_0(n),$$

$$(8) \quad M = \sup_{n,k} |a_{nk}| < \infty.$$

**Proof. Sufficiency.** If the conditions hold and  $x \in L_s$ , then we can easily get

$$\begin{aligned} p \left( \sum_{k=1}^{\infty} a_{nk} x_k \right) &= p \left( \sum_{k=1}^{k_0(n)} a_{nk} x_k \right) \\ &\leq \sum_{k=1}^{k_0(n)} |a_{nk}| p(x_k) \\ &\leq M \cdot \left( \sum_{k=1}^{\infty} [p(x_k)]^s \right)^{1/s} \\ &< \infty. \end{aligned}$$

Necessity. According to Lemma 3.5. we have  $A \in R$ , and Lemma 3.3. gives the necessity of (8).

#### 4.2. Transformations of the form $(V, \mathcal{C})$

**Theorem 4.2.1.** In  $(X, p)$ ,  $A \in (\Gamma, \mathcal{C})$  if and only if

$$(3) \quad \Delta A \in R, \text{ i. e., } \Delta a_{nk} = 0 \text{ for } k > k_0(n),$$

$$(4) \quad \sup_n \sum_{k=1}^{\infty} |\Delta a_{nk}| < \infty,$$

and

$$(9) \quad \lim_{n \rightarrow \infty} a_{nk} = \alpha_k \text{ exists for each fixed } k.$$

**Proof. Sufficiency.** We may notice that these conditions are sufficient for  $A \in (\Gamma, \mathbf{C})$  (See, Theorem 4.3.1.), and we also have the inclusion

$$(10) \quad (\Gamma, \mathbf{C}) \subset (\Gamma, \mathcal{C}) \subset (\Gamma, L_{\infty}).$$

So, the conditions are sufficient for  $A \in (\Gamma, \mathcal{C})$ , too.

Necessity. Since the conditions (3) and (4) are necessary for  $A \in (\Gamma, L_{\infty})$ , (10) implies that they are also necessary for  $A \in (\Gamma, \mathcal{C})$ . Finally, Lemma 3.2. gives the necessity of (9).

**Theorem 4. 2. 2.** Let  $1 < r < \infty$ . Then, in  $(X, p)$ ,  $A \in (L_r, \mathcal{C})$  if and only if

$$(6) \quad A \in R, \text{ i. e., } a_{nk} = 0 \text{ for } k > k_0(n),$$

$$(7) \quad M = \sup_n \sum_{k=1}^{\infty} |a_{nk}|^{r'} < \infty \quad (1/r + 1/r' = 1).$$

and

$$(9) \quad \lim_{n \rightarrow \infty} a_{nk} = \alpha_k \text{ exists for each fixed } k.$$

**Proof. Sufficiency.** Let  $(x_k) \in L_r$  and the conditions hold. Then choose and fix an  $m_0 \geq 1$  such that

$$\left( \sum_{k=m_0+1}^{\infty} [p(x_k)]^r \right)^{1/r} \leq \varepsilon/4M^{1/r'},$$

where  $\varepsilon$  is a given positive number. So we write

$$\begin{aligned} p(A_n(x) - A_m(x)) &\leq \sum_{k=1}^{m_0} |a_{nk} - a_{mk}| p(x_k) + \\ &\sum_{k=m_0+1}^{\infty} |a_{nk}| p(x_k) + \sum_{k=m_0+1}^{\infty} |a_{mk}| p(x_k) \\ &\leq \left( \sum_{k=1}^{m_0} |a_{nk} - a_{mk}|^{r'} \right)^{1/r'} \left( \sum_{k=1}^{m_0} [p(x_k)]^r \right)^{1/r} + \varepsilon/2. \end{aligned}$$

Now, (9) implies that  $(a_{nk})_{n \in N}$  is Cauchy for each  $k$ , i. e., there is an  $N_0$  such that

$$|a_{nk} - a_{mk}| < \varepsilon/2 T m_0^{1/r'} \quad (n, m \geq N_0),$$

where

$$T = \left( \sum_{k=1}^{m_0} [p(x_k)]^r \right)^{1/r}.$$

Therefore we get

$$p(A_n(x) - A_m(x)) \leq \varepsilon, \text{ i. e., } (A_n(x)) \in \mathcal{C}.$$

Necessity. Let  $(A_n(x)) \in \mathcal{C}$  whenever  $(x_k) \in L_r$ . Then, by Lemma 3.6. we have  $A \in R$  and according to Lemma 3.3. (7) is necessary. Finally, Lemma 3.2. gives the necessity of (9),

**Theorem 4.2.3.** In  $(X, p)$ ,  $A \in (L_1, \mathcal{C})$  if and only if

$$(6) \quad A \in R, \text{ i. e., } a_{nk} = 0 \text{ for } k > k_0(n),$$

$$(8) \quad M = \sup_{n,k} |a_{nk}| < \infty,$$

and

$$(9) \quad \lim_{n \rightarrow \infty} a_{nk} = \alpha_k \text{ exists for each fixed } k.$$

**Proof. Sufficiency.** Let  $(x_k) \in L_1$ . Then

$$p(A_n(x) - A_m(x)) = \sum_{k=1}^{m_0} |a_{nk} - a_{mk}| p(x_k) + 2M \sum_{k=m_0+1}^{\infty} p(x_k)$$

where  $m_0 \geq 1$ . Now, choose  $m_0$  sufficiently large such that for

a given  $\varepsilon > 0$ ,  $\sum_{k=m_0+1}^{\infty} p(x_k) < \varepsilon/4M$ . Then

$$p(A_n(x) - A_m(x)) \leq \sum_{k=1}^{m_0} |a_{nk} - a_{mk}| \cdot p(x_k) + \varepsilon/2.$$

and using (9) we get

$$|a_{nk} - a_{mk}| < \varepsilon/2H \quad \text{for each } k, (n, m \geq N_0),$$

where  $H = \sum_{k=1}^{m_0} p(x_k) < \infty$ . Therefore we get

$$p(A_n(x) - A_m(x)) \leq \varepsilon \quad \text{for } n, m \geq N_0.$$

**Necessity.** According to Lemma 3.6. we have  $A \in R$ ; Lemma 3.3. and Lemma 3.2. give the necessity of (8) and (9), respectively.

Now, in the light of this theorem and the fact that  $L_s \subset L_1$  ( $0 < s \leq 1$ ), we can give the following

**Theorem 4.2.4.** Let  $0 < s \leq 1$ . Then, in  $(X, p)$ ,  $A \in (L_s, \mathcal{C})$  if and only if  $A \in (L_1, \mathcal{C})$ .

### 4.3. Transformations of the form (V,C)

**Theorem 4.3.1.** In  $(X, p)$ ,  $A \in (\Gamma, \mathbf{C})$  if and only if

$$(3) \quad \Delta A \in R, \quad \text{i. e., } \Delta a_{nk} = 0 \quad \text{for } k > k_0(n),$$

$$(4) \quad \sup_n \sum_{k=1}^{\infty} |\Delta a_{nk}| < \infty,$$

and

$$(9) \quad \lim_{n \rightarrow \infty} a_{nk} = \alpha_k \quad \text{exists for each fixed } k.$$

**Proof.** Sufficiency part is trivial. Then, by Lemma 3.7. we have  $\Delta A \in R$ ; Lemma 3.3. and Lemma 3.2. give the necessity of (4) and (9), respectively.

**Theorem 4. 3. 2.** Let  $1 < r < \infty$ . Then, in  $(X, p)$ ,  $A \in (L_r, \mathbf{C})$  if and only if

$$(6) \quad A \in R, \text{ i. e., } a_{nk} = 0 \text{ for } k > k_0(n),$$

$$(7) \quad M = \sup_n \sum_{k=1}^{\infty} |a_{nk}|^{r'} < \infty, \quad (1/r + 1/r' = 1),$$

$$(9) \quad \lim_{n \rightarrow \infty} a_{nk} = \alpha_k \text{ exists for each fixed } k,$$

and

$$(12) \quad \alpha = (\alpha_k) \in \Phi.$$

**Proof.** Sufficiency. Let  $(x_k) \in L_r$ . Then obviously,  $A \in R$  implies that  $\sum_{k=1}^{\infty} a_{nk} x_k$  exists for each  $n$  and for each

$(x_k) \in L_r$  and  $\alpha \in \Phi$  implies that  $\sum_{k=1}^{\infty} \alpha_k x_k$  exists for each

$(x_k) \in L_r$ , finite sums in fact. Now we are going to show that

$(\sum_{k=1}^{\infty} a_{nk} x_k)_{n \in N}$  converges to  $\sum_{k=1}^{\infty} \alpha_k x_k$ . For a given  $\varepsilon > 0$ ,

let us choose and fix an  $m_0 > 0$  such that

$$\left( \sum_{k=m_0+1}^{\infty} [p(x_k)]^r \right)^{1/r} \leq \varepsilon / 4M^{1/r'}$$

We may note that we also have that  $\sum_{k=1}^{\infty} |\alpha_k|^{r'} \leq M$ . So

we write

$$p \left( \sum_{k=1}^{\infty} a_{nk} x_k - \sum_{k=1}^{\infty} \alpha_k x_k \right) \leq p \left( \sum_{k=1}^{m_0} (a_{nk} - \alpha_k) x_k \right) + \varepsilon/2.$$

where  $m_0 \geq 1$ . Letting  $n \rightarrow \infty$ , we get

$$p \left( \sum_{k=1}^{\infty} a_{nk} x_k - \sum_{k=1}^{\infty} \alpha_k x_k \right) < \varepsilon \quad \forall n \geq N_0.$$

**Necessity.** According to Lemma 3.6.  $A \in R$ ; by Lemma 3.3. we get that (7) is necessary, Lemma 3.2. gives the necessity of (9). Finally, since (12) is necessary for  $(L_1, \mathbf{C})$ , it is also necessary for  $(L_s, \mathbf{C})$ .

**Theorem 4.3.3.** Let  $0 < s \leq 1$ . Then in  $(X, p)$ .  $A \in (L_s, \mathbf{C})$  if and only if

$$(6) \quad A \in R, \text{ i. e., } a_{nk} = 0 \text{ for } k > k_0(n).$$

$$(8) \quad M = \sup_{n,k} |a_{nk}| < \infty,$$

$$(9) \quad \lim_{n \rightarrow \infty} a_{nk} = \alpha_k \text{ exists for each fixed } k$$

and

$$(12) \quad \alpha = (\alpha_k) \in \Phi.$$

**Proof.** Sufficiency. It can easily be shown that the conditions above are sufficient for  $A \in (L_1, \mathbf{C})$ . Since  $(L_s, \mathbf{C}) \supset (L_1, \mathbf{C})$ , it is easy to say that the conditions are sufficient for  $A \in (L_s, \mathbf{C})$ , too.

**Necessity.** According to Lemma 3.7., Lemma 3.3. and Lemma 3.2. we get the necessity of (6), (8) and (9), respectively. Now, we shall prove that condition (12) is necessary for  $A \in (L_1, \mathbf{C})$ . A similar proof can be given for  $A \in (L_s, \mathbf{C})$ . Since  $A \in R$ , we have that  $a_{nk} = 0$  for  $k > k_0(n)$ . Consider two cases: (i)  $k_0(n)$  bounded. Then  $a_{nk} = 0$  ( $k > \max k_0(n)$ ), whence  $\alpha = (\alpha_k) \in \Phi$ . (ii) Suppose that  $k_0(n)$  is unbounded, but  $\alpha \notin \Phi$ . We are then assuming that  $(A_n(x)) \in \mathbf{C}$  whenever  $(x_k) \in L_1$  and since  $A \in R \cap (L_1, \mathbf{C})$ , it follows that the sequence

$$(13) \quad \left( \sum_{k=1}^{k_0(n)} \alpha_k x_k \right)_{n \in \mathbb{N}}$$

converges whenever  $(x_k) \in L_1$ . Using the proof of Lemma 3.5. with  $\alpha$  in place of  $a$  we construct a sequence  $x$  in terms of the Cauchy sequence  $y$ , then extract from (13) a subsequence of  $y$  which will converge, since (13) converges. This contradicts the fact that  $y \in (\mathcal{C} - \mathbf{C})$  and so completes the proof of the theorem.

#### 4.4. Transformations of the form $(V, \Gamma)$

By Lemma 3.4. we have reduced the problem of finding the matrices  $A \in (V, \Gamma)$  to the problem of finding the matrices

$G \in (V, \mathbf{C})$ , where the matrix  $G = (g_{nk})$  is given by  $g_{nk} = \sum_{j=1}^n a_{jk}$ .

Since we have already characterized the transformations of the form  $(V, \mathbf{C})$  in paragraph 4.3., we can directly get the matrices  $A \in (V, \Gamma)$  just writing the matrix  $G$  instead of the matrix  $A$  in those transformations.

The author wishes to express his warmest thanks to Prof. I. J. Maddox, who, by his acute sense of direction led him on to this new and stimulating path in his mathematical career.

#### REFERENCES

- [1] Hahn, H. Über Folgen linearer Operationen, Monatshefte für Math. und Physik, 32, (1922), 3-88.
- [2] Hardy, G. H. Divergent Series, Oxford, 1963.
- [3] Maddox, I. J. Matrix transformations in an incomplete space, Can. J. Maths., 20, (1968), 727-734.
- [4] Maddox, I. J. Elements of Functional Analysis, Cambridge, 1970.
- [5] Mehdi, M. R. Linear transformations between the Banach spaces  $L_p$  and  $l_p$  with applications to absolute summability, Ph. D. Thesis, (1959), London.
- [6] Toeplitz, O. Über allgemeine lineare Mittelbildungen, Prace Mat-Fiz., 22, (1911), 113-119.
- [7] Vermes, P. Series-to-series transformations and analytic continuation by matrix methods, Amer. J. Math., 71, (1949), 541-562.

#### ÖZET

Bu makalede, tam olmayan bir uzay üzerinde tanımlanmış dizi uzaylarını kendileri veya bir diğer dizi uzayının içine dönüştüren matrisler karakterize edilmekte ve bu tip dönüşümler için  $f(A) < \infty$  norm-şartının gerekliliğini ispat etmek için yeni bir metot verilmektedir.

**Prix de l'abonnement annuel**

Turquie : 15 TL; Étranger: 30 TL.

Prix de ce numéro : 5 TL (pour la vente en Turquie).

Prière de s'adresser pour l'abonnement à : Fen Fakültesi

Dekanlığı Ankara, Turquie.